Efficiency vs hit

1.2

efficiency vs hits

L2
=
©
o
0. .
o 30 7050607080
P hits
— Grigmal_step ar-phasel-newgeom
—e— DQM_ mkFll s&epZ ttbar-{ phasel newgeom
—— DQM_angle_step2_ttbar-phasel-newgeom
— —— DQM_fast_step2_ttbar-phasel-newgeom
I Efficienc] —— DOM_pixelCPEGeneric_step2_ttbar-phasel-newgeom
o 0.5
b4 E
[ E
§‘0.45:—
1 E
> 0.4F
Fy E
$0. 35:—
© E
£ 0.3
o E
0.25F
0.2F
0.15F
0.1
0.05§
o OF
=
g &
0.9
o, .
0 20 25
TP layers

1 2 3 4 5 6 7 8
TP pixel layers

Efficiency vs 3D layer

0.5

N

©

N
T[T

o
O w
w O

o
N
L Ly LRy LR Ry LA LRl

fflciency vs 3D layers

% 0.25]

0.15

o
HS

Ratio
-
2
Ll

2 4 6 8 10 12 14 16 18 20

TP 3D layers




	Contents
	Page 1


